
complete this part-whole 
 model:

 

Year 3 Number of the Day Maths Fluency

in words:

                                                                 

                                                                     

draw it:

   100 more: 

                     

100 less:

                         Where is it? Draw an arrow on the number line:

partition it: (e.g. 356 = 300 + 50 + 6)

                                                                            

Is it in these times tables?

  2×       3×       4×       5×       8×       10× 

subtract 153:                                    

add 348:                                      
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Which digit is in the…?
1s column:                                
10s column:                                     
100s column:                                

today’s number > 

a 
today’s number <

visit twinkl.com

https://www.twinkl.co.uk/resources/ks2-maths/ks2-problem-solving/ks2-maths-mastery-year-3

